

**BID2024-31 FURNISHING AND DELIVERY OF UNIFORMS AND FOOTWEAR FOR THE CITY OF TRENTON
EMPLOYEES - VIRTUAL BID OPENING MAY 16, 2024 AT 11:00AM**

BID2024-31 FURNISHING AND DELIVERY OF UNIFORMS AND FOOTWEAR FOR THE CITY OF TRENTON EMPLOYEES FOR THE CITY OF TRENTON DEPARTMENT OF ADMINISTRATION FOR A PERIOD OF TWO (2) YEAR WITH AN OPTION TO EXTEND TWO (2) ADDITIONAL YEARS- VIRTUAL BID OPENING DATE MAY 16, 2024 AT 11:00AM			
NUMBER OF RESPONDENTS:	3		
NAME OF BIDDER	SHOES FOR CREWS	SMART STITCH, LLC	GALLS, LLC
ADDRESS	5000 T-REX AVENUE - SUITE 100	129 WALTERS AVENUE	1340 RUSSELL CAVE RD.
CITY, STATE, ZIP	BOCA RATON, FL 33431	EWING, NJ 08638	LEXINGTON KY 40505 - REMIT - P.O. BOX 505614 ST.LOUI MO 63150
CONTACT NAME	ANTHONY MANETTAS	JUNTARTI NJOTOPRAWIRO	mike fadden
TELEPHONE	N/A	609-945-1487	844-464-2557
FAX	N/A	N/A	877-914-2557
E-MAIL	anonym@shoesforcrews.com	VINVIN@SMARTSTITCHEMBROIDERY.COM	bidreview@galls.com
STATEMENT OF OWNERSHIP DISCLOSURE	INCLUDED	INCLUDED	INCLUDED
PROHIBITED INVESTMENT ACTVITIES IN IRAN	INCLUDED	INCLUDED	INCLUDED
ACKNOWLEDGEMENT OF RECEIPT OF ADDENDA	INCLUDED	INCLUDED	INCLUDED
REQUIRED EVIDENCE AFFIRMATIVE ACTION REGULATIONS QUESTIONNAIRE	INCLUDED	INCLUDED	INCLUDED
NON-COLLUSION AFFIDAVIT	INCLUDED	INCLUDED	INCLUDED
AMERICANS WITH DISABILITIES ACT OF 1990 LANGUAGE	INCLUDED	INCLUDED	INCLUDED
NJ BUSINESS REGISTRATION CERTIFICATE FOR CONTRACTOR	REQUIRED FROM AWARDED PROPOSER	INCLUDED	INCLUDED
EIC	REQUIRED FROM AWARDED PROPOSER WITH SIGNED CONTRACTS	CERT#64208 EXP. 3/15/2028	CERT#48619 EXP. 5+D27/15/2024
MANDATORY EQUAL EMPLOYMENT OPPORTUNITY EXHIBIT A	INCLUDED	INCLUDED	INCLUDED
STATE & FEDERAL DEBARMENT CERTIFICATIONS	INCLUDED	INCLUDED	INCLUDED
ETHICS COMPLAINT DISCLOSURE	INCLUDED	INCLUDED	INCLUDED
CERTIFICATE OF INSURANCE	REQUIRED FROM AWARDED PROPOSER	REQUIRED FROM AWARDED PROPOSER	REQUIRED FROM AWARDED PROPOSER
CITY OF TRENTON RESIDENT EMPLOYMENT POLICY	INCLUDED	INCLUDED	INCLUDED
60-DAY EXTENSION COMPLIANCE	YES	YES	INCLUDED
COMPLIANCE WITH EMERGENCY SERVICES	YES	YES	YES
THREE (3) REFERENCES	NONE	NONE	NONE
W-9	N/A	N/A	N/A
SEE ATTACHED BREAK-DOWN OF UNIT PRICINGS FOR TWO (2) YEARS WITH AN OPTION TO EXTEND TWO (2) ADDITIONAL YEARS	SEE ATTACHED UNIT PRICING FOR FOOTWEAR ONLY	SEE ATTACHED BREAK-DOWN OF UNIT PRICES FOR UNIFORMS AND FOOTWEAR	SEE ATTACHED
EXCEPTIONS (IF ANY)	NONE	YES- SEE ATTACHED	NONE
FATAL FLAW	NONE	NONE	NONE

Shoes For Crews

BID2024- 31 FURNISH AND DELIVERY OF UNIFORMS AND FOOTWEAR FOR THE CITY OF TRENTON EMPLOYEES - BID OPENING DATE MAY 16, 2024 AT 11:00AM
 THIS CONTRACT SHALL BE AWARDED FOR A PERIOD OF TWO YEARS WITH AN OPTION TO EXTEND TWO YEARS

#1 ESTIMATED QUANTITY PER DEPT/DIVISION	#2 DESCRIPTION	#3 TWO YEAR UNIT COST PER ITEM	#4 BIDDER MUST MULTIPLY #1 x #3	#5 OPTION TO EXTEND ONE TWO YEAR PERIOD UNIT COST PER ITEM	#6 BIDDER MUST MULTIPLY #1 x #5 TOTAL
325	DICKIES #874 OR EQUIVALENT SPRUCE GREEN TROUSERS	\$	\$	\$	\$
625	DICKIES CARGO STYLE TROUSERS NAVY BLUE	\$	\$	\$	\$
200	DICKIES CARGO STYLE TROUSERS SPRUCE GREEN	\$	\$	\$	\$
100	RED KAP PT20 OR EQUIVALENT SPRUCE GREEN TROUSERS	\$	\$	\$	\$
250	DICKIES #874N OR EQUIVALENT NAVY BLUE TROUSERS	\$	\$	\$	\$
100	CARHARTT STYLE 103574 FLEX PANTS NAVY BLUE	\$	\$	\$	\$
50	DICKIES #1574 OR EQUIVALENT SHORT SLEEVE SPRUCE GREEN SHIRTS	\$	\$	\$	\$
225	DICKIES #1574 OR EQUIVALENT SHORT SLEEVE NAVY BLUE SHIRTS	\$	\$	\$	\$
30	DICKIES #1574 OR EQUIVALENT SHORT SLEEVE LIGHT BLUE SHIRTS	\$	\$	\$	\$
125	DICKIES #574 OR EQUIVALENT LONG SLEEVE SPRUCE GREEN SHIRTS	\$	\$	\$	\$
30	DICKIES #574 OR EQUIVALENT LONG SLEEVE LIGHT BLUE SHIRTS	\$	\$	\$	\$
185	DICKIES #574 OR EQUIVALENT LONG SLEEVE NAVY BLUE SHIRTS	\$	\$	\$	\$
200	POLO STYLE SHORT SLEEVE SHIRT W/DEPT EMBROIDERY NAVY BLUE (WATER)	\$	\$	\$	\$
200	POLO STYLE SHORT SLEEVE SHIRT W/DEPT EMBROIDERY SPRUCE GREEN (WATER) OR EQUIVALENT	\$	\$	\$	\$
200	POLO STYLE LONG SLEEVE SHIRT W/DEPT EMBROIDERY SPRUCE GREEN (WATER) OR EQUIVALENT	\$	\$	\$	\$
200	GILDAN 2300 OR EQUIVALENT 100% COTTON T-SHIRTS WITH POCKET (SAFETY ORANGE)	\$	\$	\$	\$
400	JERZEES #29MP OR EQUIVALENT TEE SHIRTS W/POCKET (IN "SAFETY" ORANGE)	\$	\$	\$	\$
125	JERZEES NAVY BLUE T-SHIRTS OR EQUIVALENT	\$	\$	\$	\$
250	JERZEES #29MP OR EQUIVALENT TEE SHIRTS W/POCKET (IN "SAFETY" LIME GREEN)	\$	\$	\$	\$
200	SAFETY ORANGE REFLECTOR T-SHIRT (WATER)	\$	\$	\$	\$
60	RED KAP #JT50 MID-LENGTH JACKETS OR EQUIVALENT (IN SPRUCE GREEN AND/OR NAVY BLUE)	\$	\$	\$	\$
385	RED KAP #JT22 IKE JACKET OR EQUIVALENT (IN SPRUCE GREEN AND/OR NAVY BLUE)	\$	\$	\$	\$

Shoes For Crews

BID2024- 31 FURNISH AND DELIVERY OF UNIFORMS AND FOOTWEAR FOR THE CITY OF TRENTON EMPLOYEES - BID OPENING DATE MAY 16, 2024 AT 11:00AM
 THIS CONTRACT SHALL BE AWARDED FOR A PERIOD OF TWO YEARS WITH AN OPTION TO EXTEND TWO YEARS

#1 ESTIMATED QUANTITY PER DEPT/DIVISION	# 2 DESCRIPTION	#3 TWO YEAR UNIT COST PER ITEM	#4 BIDDER MUST MULTIPLY #1 x #3 TOTAL	OPTION TO EXTEND ONE TWO YEAR PERIOD UNIT COST PER ITEM	#6 BIDDER MUST MULTIPLY #1 x #5 TOTAL
320	B340 WINTER COATS (IN SPRUCE GREEN AND/OR NAVY BLUE)	\$	\$	\$	\$
360	RED KAP #CT30 INSULATED COVERALLS FOR WINTER (IN BROWN AND/OR NAVY BLUE)	\$	\$	\$	\$
75	RED KAP #PC10 100% COTTON TROUSERS OR EQUIVALENT (IN SPRUCE GREEN AND/OR NAVY BLUE)	\$	\$	\$	\$
75	RED KAP #SC10 100% COTTON LONG SLEEVE SHIRTS OR EQUIVALENT (IN SPRUCE GREEN AND/OR NAVY BLUE)	\$	\$	\$	\$
75	RED KAP #SC40 100% COTTON SHORT SLEEVE SHIRTS OR EQUIVALENT (IN SPRUCE GREEN AND/OR NAVY BLUE)	\$	\$	\$	\$
40	NAMESTRIP APPLIED ON UNIFORMS (MC)	\$	\$	\$	\$
1,500	CITY OF TRENTON SEWN ON PATCHES	\$	\$	\$	\$
50	EMBROIDERIES OVER RIGHT POCKET IN RED "WATER METER READER"	\$	\$	\$	\$
400	SAFETY REFLECTIVE TROUSERS SPRUCE GREEN RED KAP #_____ OR EQUIVALENT- (PW SOLID WASTE)	\$	\$	\$	\$
105	SAFETY REFLECTIVE SHORT SLEEVE SHIRTS SPRUCE GREEN RED KAP #_____ OR EQUIVALENT- (PW SOLID WASTE)	\$	\$	\$	\$
125	SAFETY REFLECTIVE LONG SLEEVE SHIRTS SPRUCE GREEN RED KAP #_____ OR EQUIVALENT - (PW SOLID WASTE)-C7	\$	\$	\$	\$
200	SAFETY REFLECTIVE LONG SLEEVE SHIRTS SPRUCE GREEN RED KAP #_____ OR EQUIVALENT- (PW SOLID WASTE)	\$	\$	\$	\$
30	SAFETY REFLECTIVE MID-LENGTH JACKET SPRUCE GREEN RED KAP#_____ OR EQUIVALENT (PW-SOLID WASTE)	\$	\$	\$	\$
20	SAFETY REFLECTIVE IKE JACKET SPRUCE GREEN RED KAP #_____ OR EQUIVALENT (PW-SOLID WASTE)	\$	\$	\$	\$
20	SAFETY REFLECTIVE B340 WINTER COATS SPRUCE GREEN RED KAP #_____ OR EQUIVALENT (PW-SOLID WASTE)	\$	\$	\$	\$
40	LINE RIGHT CHEST EMBROIDERY (MC)	\$	\$	\$	\$
40	REVERSED FLAG PATCH DGLD/RED (MC)	\$	\$	\$	\$
40	REG BLAUER FLEECE LINED V-NECK SWEATER	\$	\$	\$	\$
15	SAFETY REFLECTIVE INSULATED COVERALLS FOR WINTER BROWN RED KAP #_____ OR EQUIVALENT- (PW-SOLID WASTE)	\$	\$	\$	\$
ESTIMATED QUANTITY PER DEPT/DIVISION		INDICATE EXTENDED (Ex. Extended Sizes 3X-6X OR 42-46)		TWO YEAR INCREASE PER UNIT	OPTION TO EXTEND ONE TWO YEAR PERIOD PER UNIT
				% OF UNIT COST	% OF UNIT COST

Shoes For Crews

BID2024- 31 FURNISH AND DELIVERY OF UNIFORMS AND FOOTWEAR FOR THE CITY OF TRENTON EMPLOYEES - BID OPENING DATE MAY 16, 2024 AT 11:00AM
 THIS CONTRACT SHALL BE AWARDED FOR A PERIOD OF TWO YEARS WITH AN OPTION TO EXTEND TWO YEARS

#1 ESTIMATED QUANTITY PER DEPT/DIVISION	# 2 FOOTWEAR DESCRIPTION	#3 TWO YEAR UNIT COST PER ITEM	#4 BIDDER MUST MULTIPLY #1 x #3 TOTAL	% OF UNIT COST	
				% OF UNIT COST	% OF UNIT COST
400	Shoes For Crews #78890 - Piston WOLVERINE STEEL TOE WATERPROOF BOOT STYLE 6" STYLE #2380 IN BLACK	\$ 94.98	\$ 37,992.00	\$ 94.98	\$ 37,992.00
10	Shoes For Crews #79333 - Cade ST WOLVERINE STEEL TOE LOE STYLE #3106 IN BLACK +C61	\$ 64.98	\$ 649.80	\$ 64.98	\$ 649.80
10	Shoes For Crews #67301 - Piston Mid Soft Toe WOLVERINE NON-STEEL TOE 6" STYLE #2352 IN BLACK	\$ 74.98	\$ 749.80	\$ 74.98	\$ 749.80
30	Shoes For Crews #67718 - Cade Soft Toe WOLVERINE NON-STEEL TOE LOW STYLE #3108 IN BLACK	\$ 59.98	\$ 1,799.40	\$ 59.98	\$ 1,799.40
200	Shoes For Crews #63206 - Defender Soft Toe ORTHOFEET HUNTER WATERPROOF MENS MODEL #488	\$ 84.96	\$ 16,992.00	\$ 84.96	\$ 16,992.00
500	CARHARTT RUGGED FLEX WATERPROOF COMPOSITE TOE WORK BOOT 83707 (WATER) Shoes For Crews #73712 - Redrock	\$ 119.98	\$ 59,990.00	\$ 119.98	\$ 59,990.00
100	Shoes For Crews #77282 - Redrock TIMBERLAND PRO HELIX WATERPROOF COMPOSITE TOE STYLE 61065 (WATER)	\$ 119.98	\$ 11,998.00	\$ 119.98	\$ 11,998.00
50	Shoes For Crews #72391 - Defense UA STELLAR TACTICAL SIDE ZIP BOOTS (MC)	\$ 110.98	\$ 5,549.00	\$ 110.98	\$ 5,549.00
20	Shoes For Crews #22156 - NB Kaiha Road NEW BALANCE FRESH FOAM X KAIHA ROAD WOMENS STYLE# 22156	\$ 114.98	\$ 2,298.00	\$ 114.98	\$ 2,298.00

Smart Stitch, LLC

BID2024- 31 FURNISH AND DELIVERY OF UNIFORMS AND FOOTWEAR FOR THE CITY OF TRENTON EMPLOYEES - BID OPENING DATE MAY 16, 2024 AT 11:00AM
 THIS CONTRACT SHALL BE AWARDED FOR A PERIOD OF TWO YEARS WITH AN OPTION TO EXTEND TWO YEARS

#1 ESTIMATED QUANTITY PER DEPT/DIVISION	# 2 DESCRIPTION	#3 TWO YEAR UNIT COST PER ITEM	#4 BIDDER MUST MULTIPLY #1 x #3	#5 OPTION TO EXTEND ONE TWO YEAR PERIOD UNIT COST PER ITEM	#6 BIDDER MUST MULTIPLY #1 x #5 TOTAL
325	DICKIES #874 OR EQUIVALENT SPRUCE GREEN TROUSERS	P874 \$ 26.75	\$ 8,693.75	\$ 28.10	\$ 9,132.50
625	LP60 DICKIES CARGO STYLE TROUSERS NAVY BLUE	\$ 27.25	\$ 17,031.25	\$ 28.60	\$ 17,875.00
200	LP60 DICKIES CARGO STYLE TROUSERS SPRUCE GREEN	\$ 27.25	\$ 5,450.00	\$ 28.60	\$ 5,720.00
100	RED KAP PT20 OR EQUIVALENT SPRUCE GREEN TROUSERS	PT20 \$ 18.50	\$ 1,850.00	\$ 19.40	\$ 1,940.00
250	DICKIES #874N OR EQUIVALENT NAVY BLUE TROUSERS	P874 \$ 26.75	\$ 6,687.50	\$ 28.10	\$ 7,025.00
100	CT103574 CARHARTT STYLE 103574 FLEX PANTS NAVY BLUE	\$ 51.00	\$ 5,100.00	\$ 53.60	\$ 5,360.00
60	DICKIES #1574 OR EQUIVALENT SHORT SLEEVE SPRUCE GREEN SHIRTS	#1574 \$ 26.25	\$ 1,312.50	\$ 27.60	\$ 1,380.00
225	DICKIES #1574 OR EQUIVALENT SHORT SLEEVE NAVY BLUE SHIRTS	#1574 \$ 26.25	\$ 5,906.25	\$ 27.60	\$ 6,210.00
30	DICKIES #1574 OR EQUIVALENT SHORT SLEEVE LIGHT BLUE SHIRTS	#1574 \$ 26.25	\$ 787.50	\$ 27.60	\$ 828.00
125	DICKIES #574 OR EQUIVALENT LONG SLEEVE SPRUCE GREEN SHIRTS	#5574 \$ 29.70	\$ 3,712.50	\$ 31.20	\$ 3,900.00
30	DICKIES #574 OR EQUIVALENT LONG SLEEVE LIGHT BLUE SHIRTS	#5574 \$ 29.70	\$ 891.00	\$ 31.20	\$ 936.00
185	DICKIES #574 OR EQUIVALENT LONG SLEEVE NAVY BLUE SHIRTS	#5574 \$ 29.70	\$ 5,494.50	\$ 31.20	\$ 5,772.00
200	POLO STYLE SHORT SLEEVE SHIRT W/DEPT EMBROIDERY NAVY BLUE (WATER)	KP55 \$ 12.00	\$ 2,400.00	\$ 12.60	\$ 2,520.00
200	POLO STYLE SHORT SLEEVE SHIRT W/DEPT EMBROIDERY SPRUCE GREEN (WATER) OR EQUIVALENT	KP55 \$ 12.00	\$ 2,400.00	\$ 12.60	\$ 2,520.00
200	POLO STYLE LONG SLEEVE SHIRT W/DEPT EMBROIDERY SPRUCE GREEN (WATER) OR EQUIVALENT	437ML \$ 17.25	\$ 3,450.00	\$ 18.10	\$ 3,620.00
200	GILDAN 2300 OR EQUIVALENT 100% COTTON T-SHIRTS WITH POCKET (SAFETY ORANGE)	G2300 \$ 8.30	\$ 1,660.00	\$ 8.70	\$ 1,740.00
400	JERZEES #29MP OR EQUIVALENT TEE SHIRTS W/POCKET (IN "SAFETY" ORANGE)	29MP \$ 8.25	\$ 3,300.00	\$ 8.70	\$ 3,480.00
125	JERZEES #29M OR EQUIVALENT TEE SHIRTS W/POCKET (IN "SAFETY" ORANGE)	29M \$ 3.99	\$ 498.75	\$ 4.20	\$ 525.00
250	JERZEES #29MP OR EQUIVALENT TEE SHIRTS W/POCKET (IN "SAFETY" LIME GREEN)	29MP \$ 8.25	\$ 2,062.50	\$ 8.70	\$ 2,175.00
200	SAFETY ORANGE REFLECTOR T-SHIRT (WATER)	OTS2 \$ 11.99	\$ 2,398.00	\$ 12.60	\$ 2,520.00
60	RED KAP #JT50 MID-LENGTH JACKETS OR EQUIVALENT (IN SPRUCE GREEN AND/OR NAVY BLUE)	JT50 \$ 41.75	\$ 2,505.00	\$ 43.80	\$ 2,628.00
385	RED KAP #JT22 IKE JACKET OR EQUIVALENT (IN SPRUCE GREEN AND/OR NAVY BLUE)	JT22 \$ 39.25	\$ 15,111.25	\$ 41.20	\$ 15,862.00

Smart Stitch, LLC

BID2024-31 FURNISH AND DELIVERY OF UNIFORMS AND FOOTWEAR FOR THE CITY OF TRENTON EMPLOYEES - BID OPENING DATE MAY 16, 2024 AT 11:00AM
 THIS CONTRACT SHALL BE AWARDED FOR A PERIOD OF TWO YEARS WITH AN OPTION TO EXTEND TWO YEARS

#1 ESTIMATED QUANTITY PER DEPT/DIVISION	# 2 DESCRIPTION	#3 TWO YEAR UNIT COST PER ITEM	#4 BIDDER MUST MULTIPLY #1 x #3 TOTAL	OPTION TO EXTEND ONE TWO YEAR PERIOD UNIT <u>COST</u> PER ITEM	#6 BIDDER MUST MULTIPLY #1 x #5 TOTAL
320	B340 WINTER COATS (IN SPRUCE GREEN AND/OR NAVY BLUE) J799	\$ 106.00	\$ 33,920.00	\$ 111.30	\$ 35,616.00
360	RED KAP #CT30 INSULATED COVERALLS FOR WINTER (IN BROWN AND/OR NAVY BLUE) CT30	\$ 76.30	\$ 27,468.00	\$ 80.10	\$ 28,836.00
75	RED KAP #PC10 100% COTTON TROUSERS OR EQUIVALENT (IN SPRUCE GREEN AND/OR NAVY BLUE) PC20	\$ 26.50	\$ 1,987.50	\$ 27.80	\$ 2,085.00
75	RED KAP #SC10 100% COTTON LONG SLEEVE SHIRTS OR EQUIVALENT (IN SPRUCE GREEN AND/OR NAVY BLUE) SC30	\$ 24.75	\$ 1,856.25	\$ 26.00	\$ 1,950.00
75	RED KAP #SC40 100% COTTON SHORT SLEEVE SHIRTS OR EQUIVALENT (IN SPRUCE GREEN AND/OR NAVY BLUE) SC40	\$ 24.50	\$ 1,837.50	\$ 25.70	\$ 1,927.50
40	NAMESTRIP APPLIED ON UNIFORMS (MC)	\$ 2.25	\$ 90.00	\$ 2.40	\$ 96.00
1,600	CITY OF TRENTON SEWN ON PATCHES	\$ 1.85	\$ 2,775.00	\$ 1.90	\$ 2,850.00
50	EMBROIDERIES OVER RIGHT POCKET IN RED "WATER METER READER"	\$ 3.00	\$ 150.00	\$ 3.20	\$ 160.00
400	SAFETY REFLECTIVE TROUSERS SPRUCE GREEN RED KAP #_____ OR EQUIVALENT- (PW SOLID WASTE) PT20EN	\$ 36.25	\$ 14,500.00	\$ 38.10	\$ 15,240.00
100	SAFETY REFLECTIVE SHORT SLEEVE SHIRTS SPRUCE GREEN RED KAP #_____ OR EQUIVALENT- (PW SOLID WASTE) SP24EN	\$ 38.50	\$ 4,042.50	\$ 40.40	\$ 4,242.00
125	SAFETY REFLECTIVE LONG SLEEVE SHIRTS SPRUCE GREEN RED KAP #_____ OR EQUIVALENT- (PW SOLID WASTE)-C7 SP14EN	\$ 42.75	\$ 5,343.75	\$ 44.90	\$ 5,612.50
200	SAFETY REFLECTIVE LONG SLEEVE SHIRTS SPRUCE GREEN RED KAP #_____ OR EQUIVALENT- (PW SOLID WASTE) SP14EN	\$ 42.75	\$ 8,550.00	\$ 44.90	\$ 8,980.00
30	SAFETY REFLECTIVE MID-LENGTH JACKET SPRUCE GREEN RED KAP #_____ OR EQUIVALENT (PW-SOLID WASTE) JT50EN	\$ 64.00	\$ 1,920.00	\$ 67.20	\$ 2,016.00
20	SAFETY REFLECTIVE IKE JACKET SPRUCE GREEN RED KAP #_____ OR EQUIVALENT (PW-SOLID WASTE) JT22EN	\$ 84.00	\$ 1,680.00	\$ 88.20	\$ 1,764.00
20	SAFETY REFLECTIVE B340 WINTER COATS SPRUCE GREEN RED KAP #_____ OR EQUIVALENT (PW-SOLID WASTE) J799S	\$ 120.65	\$ 2,413.00	\$ 126.70	\$ 2,534.00
40	LINE RIGHT CHEST EMBROIDERY (MC)	\$ 3.50	\$ 140.00	\$ 3.70	\$ 148.00
40	REVERSED FLAG PATCH DGLD/RED (MC)	\$ 2.00	\$ 80.00	\$ 2.10	\$ 84.00
40	Rothco #6345 REG BLAUER FLEECE LINED V-NECK SWEATER	\$ 41.50	\$ 1,660.00	\$ 43.60	\$ 1,744.00
15	SAFETY REFLECTIVE INSULATED COVERALLS FOR WINTER BROWN RED KAP #_____ OR EQUIVALENT- (PW-SOLID WASTE) CT30EN	\$ 123.25	\$ 1,848.75	\$ 129.40	\$ 1,941.00
ESTIMATED QUANTITY PER DEPT/DIVISION	ITEM DESCRIPTION	INDICATE EXTENDED (Ex. Extended Sizes 3X-6X OR 42-46)		TWO YEAR INCREASE PER UNIT	OPTION TO EXTEND ONE TWO YEAR PERIOD PER UNIT
200	POLO STYLE SHORT SLEEVE SHIRT W/DEPT EMBROIDERY NAVY BLUE (WATER) KP55	2XL - 5XL		ADD \$3 OF UNIT COST _____ % OF UNIT COST	ADD \$3 OF UNIT COST _____ % OF UNIT COST

Smart Stitch, LLC

BID2024-31 FURNISH AND DELIVERY OF UNIFORMS AND FOOTWEAR FOR THE CITY OF TRENTON EMPLOYEES - BID OPENING DATE MAY 16, 2024 AT 11:00AM
THIS CONTRACT SHALL BE AWARDED FOR A PERIOD OF TWO YEARS WITH AN OPTION TO EXTEND TWO YEARS

200	POLO STYLE SHORT SLEEVE SHIRT W/DEPT EMBROIDERY SPRUCE GREEN (WATER) OR EQUIVALENT KP55	2XL - 5XL	ADD \$3 OF UNIT COST % OF UNIT COST	ADD \$3 OF UNIT COST % OF UNIT COST
	POLO STYLE LONG SLEEVE SHIRT W/DEPT EMBROIDERY SPRUCE GREEN (WATER) OR EQUIVALENT 437ML	2XL - 5XL	ADD \$3 OF UNIT COST % OF UNIT COST	ADD \$3 OF UNIT COST % OF UNIT COST
200	GILDAN 2300 OR EQUIVALENT 100% COTTON T-SHIRTS WITH POCKET (SAFETY ORANGE) G2300	2XL - 5XL	ADD \$3 OF UNIT COST % OF UNIT COST	ADD \$3 OF UNIT COST % OF UNIT COST
400 & 250	JERZEES #29MP OR EQUIVALENT TEE SHIRTS W/POCKET (IN "SAFETY" ORANGE) <u>29MP</u> (IN "SAFETY" LIME GREEN) <u>29MP</u>	2XL - 5XL	ADD \$4 OF UNIT COST % OF UNIT COST	ADD \$4 OF UNIT COST % OF UNIT COST
125	JERZEES NAVY BLUE T-SHIRTS OR EQUIVALENT <u>29M</u>	2XL - 5XL	ADD \$3 OF UNIT COST % OF UNIT COST	ADD \$3 OF UNIT COST % OF UNIT COST
320	B340 WINTER COATS (IN SPRUCE GREEN AND/OR NAVY BLUE) <u>J799</u>	2XL - 4XL	ADD \$5 OF UNIT COST % OF UNIT COST	ADD \$5 OF UNIT COST % OF UNIT COST
20	SAFETY REFLECTIVE B340 WINTER COATS SPRUCE GREEN RED KAP # OR EQUIVALENT (PW-SOLID WASTE) <u>J799S</u>	2XL - 4XL	ADD \$5 OF UNIT COST % OF UNIT COST	ADD \$5 OF UNIT COST % OF UNIT COST
40	REG BLAUER FLEECE LINED V-NECK SWEATER <u>ROTHCO #6345</u>	2XL - 5XL	ADD \$3 OF UNIT COST % OF UNIT COST	ADD \$3 OF UNIT COST % OF UNIT COST
#1 ESTIMATED QUANTITY PER DEPT/DIVISION	#2 FOOTWEAR DESCRIPTION	#3 TWO YEAR UNIT COST PER ITEM	#4 BIDDER MUST MULTIPLY #1 x #3 TOTAL	#5 OPTION TO EXTEND ONE TWO YEAR UNIT COST PER ITEM
400	Wolverine W10694 WOLVERINE STEEL TOE WATERPROOF BOOT STYLE 6" STYLE #2350 IN BLACK	\$ 85.75	\$ 34,300.00	\$ 90.00
10	Genuine Grip #1401 WOLVERINE STEEL TOE LOE STYLE #3106 IN BLACK +C61	\$ 46.50	\$ 465.00	\$ 48.80
10	Wolverine W230064 WOLVERINE NON-STEEL TOE 6" STYLE #2352 IN BLACK	\$ 75.00	\$ 750.00	\$ 78.80
30	Wolverine W231000 WOLVERINE NON-STEEL TOE LOW STYLE #3108 IN BLACK	\$ 85.75	\$ 2,572.50	\$ 90.00
200	ORTHOFEET HUNTER WATERPROOF MENS MODEL #488 Bates - E09103	\$ 101.00	\$ 20,200.00	\$ 106.10
500	CARHARTT RUGGED FLEX WATERPROOF COMPOSITE TOE WORK BOOT <u>83707</u> (WATER) Terra - R5205B	\$ 107.00	\$ 53,500.00	\$ 112.40
100	Wolverine - W10717 TIMBERLAND PRO HELIX WATERPROOF COMPOSITE TOE STYLE 61055 (WATER)	\$ 128.50	\$ 12,850.00	\$ 134.90
50	Bates - E06506 UA STELLAR TACTICAL SIDE ZIP BOOTS (MC)	\$ 69.00	\$ 3,450.00	\$ 72.50
20	NEW BALANCE FRESH FOAM X KAIHA ROAD WOMENS STYLE# 22166 Nautilus N1391	\$ 73.50	\$ 1,470.00	\$ 77.20
				\$ 1,544.00

**EXCEPTIONS
(IF NONE, PLEASE NOTE)**

- 1) B340 WINTER COATS (IN SPRUCE GREEN AND/OR NAVY BLUE) – Replaced with **Port Authority Heavyweight Parka #J799 (BLACK AND ROYAL ONLY)**.
 - 2) RED KAP #PC10 100% COTTON TROUSERS OR EQUIVALENT (IN SPRUCE GREEN AND/OR NAVY BLUE) – Replaced with **RED KAP PC20**. It's the same item, only the code is changed by the manufacturer.
 - 3) RED KAP #SC10 100% COTTON LONG SLEEVE SHIRTS OR EQUIVALENT (IN SPRUCE GREEN AND/OR NAVY BLUE) – Replaced with **RED KAP SC30**. It's the same item, only the code is changed by the manufacturer.
 - 4) SAFETY REFLECTIVE B340 WINTER COATS SPRUCE GREEN RED KAP # OR EQUIVALENT (PW-SOLID WASTE) – Replaced with **PORT AUTHORITY J799S (SAFETY YELLOW/BLACK)**
 - 5) REG BLAUER FLEECE LINED V-NECK SWEATER – Replaced by **Rothco 6345 (Rothco G.I. Style Acrylic V-Neck Sweater)**. Fabric is 100% Acrylic, but not Fleece Lined
 - 6) WOLVERINE STEEL TOE WATERPROOF BOOT STYLE 6" STYLE #2350 IN BLACK – Replaced by **WOLVERINE #W10694 (MEN'S WOLVERINE FLOORHAND WATERPROOF STEEL-TOE 6" WORK BOOT)**
 - 7) WOLVERINE STEEL TOE LOW STYLE #3106 IN BLACK – Replaced with **GENUINE GRIP #1401 (Men Composite Toe SR Comfort Slip on)**
 - 8) WOLVERINE NON-STEEL TOE 6" STYLE #2352 IN BLACK – Replaced with **WOLVERINE # W230064 (MEN'S WOLVERINE CARLSBAD SOFT TOE)**
 - 9) WOLVERINE NON-STEEL TOE LOW STYLE #3108 IN BLACK – Replaced with **WOLVERINE W231000 (MEN'S WOLVERINE BOLT KNIT DSPRG SHOE)**
 - 10) ORTHROFEET HUNTER WATERPROOF MENS MODEL #488 – Replaced with **BATES - RUSH E09103 (RUSH MID WORK COMPOSITE TOE)**
 - 11) CARHARTT RUGGED FLEX WATERPROOF COMPOSITE TOE WORK BOOT 83707 (WATER) – Replaced with **Terra - R5205B (Terra Findlay 6 Inch Safety Composite Toe Boot)**
 - 12) TIMBERLAND PRO HELIX WATERPROOF COMPOSITE TOE STYLE 61055 (WATER) – Replaced with **WOLVERINE W10717 (MEN'S OVERPASS MID COMPOSITE TOE WATERPROOF BOOTS)**
 - 13) UA STELLAR TACTICAL SIDE ZIP BOOTS (MC) – Replaced with **BATES - FUSE E06506 (Men Tactical Leather Side Zip boots)**
 - 14) NEW BALANCE FRESH FOAM X KAIHA ROAD WOMENS STYLE# 22156 – Replaced with **Nautilus N1391 (Women's Specialty ESD Grey Composite Toe SD10 Athletic Work Shoe)**
-

Ga/15, LLC

BID2024- 31 FURNISH AND DELIVERY OF UNIFORMS AND FOOTWEAR FOR THE CITY OF TRENTON EMPLOYEES - BID OPENING DATE MAY 16, 2024 AT 11:00AM
 THIS CONTRACT SHALL BE AWARDED FOR A PERIOD OF TWO YEARS WITH AN OPTION TO EXTEND TWO YEARS

#1 ESTIMATED QUANTITY PER DEPT/DIVISION	#2 DESCRIPTION	#3 TWO YEAR UNIT COST PER ITEM	#4 BIDDER MUST MULTIPLY #1 x #3	#5 OPTION TO EXTEND ONE TWO YEAR PERIOD UNIT COST PER ITEM	#6 BIDDER MUST MULTIPLY #1 x #5 TOTAL
325	DICKIES #874 OR EQUIVALENT SPRUCE GREEN TROUSERS	\$ 32.74	\$ 10,640.50	\$ 34.38	\$ 11,173.50
625	DICKIES CARGO STYLE TROUSERS NAVY BLUE	\$ 33.99	\$ 21,243.75	\$ 35.69	\$ 22,306.25
200	DICKIES CARGO STYLE TROUSERS SPRUCE GREEN	\$ No Bid	\$ No Bid	\$ No Bid	\$ No Bid
100	RED KAP PT20 OR EQUIVALENT SPRUCE GREEN TROUSERS	\$ 23.99	\$ 2,399.00	\$ 25.19	\$ 2,519.00
260	DICKIES #874N OR EQUIVALENT NAVY BLUE TROUSERS	\$ 50.00	\$ 12,500.00	\$ 52.50	\$ 13,125.00
100	CARHARTT STYLE 103574 FLEX PANTS NAVY BLUE	\$ 45.00	\$ 4,500.00	\$ 47.25	\$ 4,725.00
50	DICKIES #1574 OR EQUIVALENT SHORT SLEEVE SPRUCE GREEN SHIRTS	\$ 25.00	\$ 1,250.00	\$ 26.25	\$ 1,312.50
225	DICKIES #1574 OR EQUIVALENT SHORT SLEEVE NAVY BLUE SHIRTS	\$ 25.00	\$ 5,625.00	\$ 26.25	\$ 5,906.25
30	DICKIES #1574 OR EQUIVALENT SHORT SLEEVE LIGHT BLUE SHIRTS	\$ 31.00	\$ 930.00	\$ 32.55	\$ 976.50
125	DICKIES #574 OR EQUIVALENT LONG SLEEVE SPRUCE GREEN SHIRTS	\$ 48.00	\$ 6,000.00	\$ 50.40	\$ 6,300.00
30	DICKIES #574 OR EQUIVALENT LONG SLEEVE LIGHT BLUE SHIRTS	\$ 48.00	\$ 1,440.00	\$ 50.40	\$ 1,512.00
186	DICKIES #574 OR EQUIVALENT LONG SLEEVE NAVY BLUE SHIRTS	\$ 48.00	\$ 8,880.00	\$ 50.40	\$ 9,324.00
200	POLO STYLE SHORT SLEEVE SHIRT W/DEPT EMBROIDERY NAVY BLUE (WATER)	\$ 37.50	\$ 7,500.00	\$ 39.38	\$ 7,876.00
200	POLO STYLE SHORT SLEEVE SHIRT W/DEPT EMBROIDERY SPRUCE GREEN (WATER) OR EQUIVALENT	\$ 37.50	\$ 7,500.00	\$ 39.38	\$ 7,876.00
200	POLO STYLE LONG SLEEVE SHIRT W/DEPT EMBROIDERY SPRUCE GREEN (WATER) OR EQUIVALENT	\$ 41.50	\$ 8,300.00	\$ 43.58	\$ 8,716.00
200	GILDAN 2300 OR EQUIVALENT 100% COTTON T-SHIRTS WITH POCKET (SAFETY ORANGE)	\$ 8.50	\$ 1,700.00	\$ 8.93	\$ 1,786.00
400	JERZEES #29MP OR EQUIVALENT TEE SHIRTS W/POCKET (IN "SAFETY" ORANGE)	\$ 11.90	\$ 4,760.00	\$ 12.50	\$ 5,000.00
125	JERZEES NAVY BLUE T-SHIRTS OR EQUIVALENT	\$ 8.50	\$ 1,062.50	\$ 8.93	\$ 1,116.25
260	JERZEES #29MP OR EQUIVALENT TEE SHIRTS W/POCKET (IN "SAFETY" LIME GREEN)	\$ 11.90	\$ 2,975.00	\$ 12.50	\$ 3,125.00
200	SAFETY ORANGE REFLECTOR T-SHIRT (WATER)	\$ 11.25	\$ 2,250.00	\$ 11.81	\$ 2,362.00
60	RED KAP #JT50 MID-LENGTH JACKETS OR EQUIVALENT (IN SPRUCE GREEN AND/OR NAVY BLUE)	\$ 41.50	\$ 2,490.00	\$ 43.58	\$ 2,614.80
386	RED KAP #JT22 IKE JACKET OR EQUIVALENT (IN SPRUCE GREEN AND/OR NAVY BLUE)	\$ 39.00	\$ 15,015.00	\$ 40.95	\$ 15,765.75

6a115, LLC

BID2024- 31 FURNISH AND DELIVERY OF UNIFORMS AND FOOTWEAR FOR THE CITY OF TRENTON EMPLOYEES - BID OPENING DATE MAY 16, 2024 AT 11:00AM
 THIS CONTRACT SHALL BE AWARDED FOR A PERIOD OF TWO YEARS WITH AN OPTION TO EXTEND TWO YEARS

#1 ESTIMATED QUANTITY PER DEPT/DIVISION	#2 DESCRIPTION	#3 TWO YEAR UNIT COST PER ITEM	#4 BIDDER MUST MULTIPLY #1 x #3 TOTAL	OPTION TO EXTEND ONE TWO YEAR PERIOD UNIT COST PER ITEM	#6 BIDDER MUST MULTIPLY #1 x #5 TOTAL
320	B340 WINTER COATS (IN SPRUCE GREEN AND/OR NAVY BLUE)	\$ 70.00	\$ 22,400.00	\$ 73.50	\$ 23,520.00
360	RED KAP #CT10 INSULATED COVERALLS FOR WINTER (IN BROWN AND/OR NAVY BLUE)	\$ 70.00	\$ 25,200.00	\$ 73.50	\$ 26,460.00
75	RED KAP #PC10 100% COTTON TROUSERS OR EQUIVALENT (IN SPRUCE GREEN AND/OR NAVY BLUE)	\$ 56.50	\$ 4,237.50	\$ 59.33	\$ 4,449.75
75	RED KAP #SC10 100% COTTON LONG SLEEVE SHIRTS OR EQUIVALENT (IN SPRUCE GREEN AND/OR NAVY BLUE)	\$ 23.00	\$ 1,725.00	\$ 24.15	\$ 1,811.25
75	RED KAP #SC40 100% COTTON SHORT SLEEVE SHIRTS OR EQUIVALENT (IN SPRUCE GREEN AND/OR NAVY BLUE)	\$ 21.00	\$ 1,575.00	\$ 22.05	\$ 1,653.75
40	NAMESTRIp APPLIED ON UNIFORMS (MC)	\$ 6.00	\$ 240.00	\$ 6.30	\$ 252.00
1,600	CITY OF TRENTON SEWN ON PATCHES	No Bid	No Bid	No Bid	No Bid
60	EMBROIDERIES OVER RIGHT POCKET IN RED "WATER METER READER"	\$ 6.59	\$ 329.50	\$ 6.92	\$ 346.00
400	SAFETY REFLECTIVE TROUSERS SPRUCE GREEN RED KAP #_____ OR EQUIVALENT- (PW SOLID WASTE)	\$ No Bid	\$ No Bid	\$ No Bid	\$ No Bid
105	SAFETY REFLECTIVE SHORT SLEEVE SHIRTS SPRUCE GREEN RED KAP #_____ OR EQUIVALENT- (PW SOLID WASTE)	\$ No Bid	\$ No Bid	\$ No Bid	\$ No Bid
125	SAFETY REFLECTIVE LONG SLEEVE SHIRTS SPRUCE GREEN RED KAP #_____ OR EQUIVALENT - (PW SOLID WASTE)+C7	\$ No Bid	\$ No Bid	\$ No Bid	\$ No Bid
200	SAFETY REFLECTIVE LONG SLEEVE SHIRTS SPRUCE GREEN RED KAP #_____ OR EQUIVALENT - (PW SOLID WASTE)	\$ No Bid	\$ No Bid	\$ No Bid	\$ No Bid
30	SAFETY REFLECTIVE MID-LENGTH JACKET SPRUCE GREEN RED KAP #_____ OR EQUIVALENT (PW-SOLID WASTE)	\$ No Bid	\$ No Bid	\$ No Bid	\$ No Bid
20	SAFETY REFLECTIVE IKE JACKET SPRUCE GREEN RED KAP #_____ OR EQUIVALENT (PW-SOLID WASTE)	\$ No Bid	\$ No Bid	\$ No Bid	\$ No Bid
20	SAFETY REFLECTIVE B340 WINTER COATS SPRUCE GREEN RED KAP #_____ OR EQUIVALENT (PW-SOLID WASTE)	\$ No Bid	\$ No Bid	\$ No Bid	\$ No Bid
40	LINE RIGHT CHEST EMBROIDERY (MC)	\$ 6.59	\$ 263.60	\$ 6.92	\$ 276.80
40	REVERSED FLAG PATCH DGLD/RED (MC)	\$ 1.71	\$ 68.40	\$ 1.80	\$ 72.00
40	REG BLAUER FLEECE LINED V-NECK SWEATER	\$ 125.00	\$ 5,000.00	\$ 131.25	\$ 5,250.00
16	SAFETY REFLECTIVE INSULATED COVERALLS FOR WINTER BROWN RED KAP #_____ OR EQUIVALENT- (PW-SOLID WASTE)	\$ 32.49	\$ 487.35	\$ 34.11	\$ 511.65
ESTIMATED QUANTITY PER DEPT/DIVISION		INDICATE EXTENDED (Ex. Extended Sizes 3X-6X OR 42-46)		TWO YEAR INCREASE PER UNIT	OPTION TO EXTEND ONE TWO YEAR PERIOD PER UNIT
N/A	N/A	N/A		% OF UNIT COST	% OF UNIT COST

Galls, LLC

BID2024- 31 FURNISH AND DELIVERY OF UNIFORMS AND FOOTWEAR FOR THE CITY OF TRENTON EMPLOYEES - BID OPENING DATE MAY 16, 2024 AT 11:00AM
 THIS CONTRACT SHALL BE AWARDED FOR A PERIOD OF TWO YEARS WITH AN OPTION TO EXTEND TWO YEARS

#1 ESTIMATED QUANTITY PER DEPT/DIVISION	# 2 FOOTWEAR DESCRIPTION	#3 TWO YEAR UNIT COST PER ITEM	#4 BIDDER MUST MULTIPLY #1 x #3 TOTAL	% OF UNIT COST	
				% OF UNIT COST	% OF UNIT COST
	N/A			% OF UNIT COST	% OF UNIT COST
				% OF UNIT COST	% OF UNIT COST
				% OF UNIT COST	% OF UNIT COST
				% OF UNIT COST	% OF UNIT COST
				% OF UNIT COST	% OF UNIT COST
				% OF UNIT COST	% OF UNIT COST
				% OF UNIT COST	% OF UNIT COST
				% OF UNIT COST	% OF UNIT COST
				% OF UNIT COST	% OF UNIT COST
				% OF UNIT COST	% OF UNIT COST
				% OF UNIT COST	% OF UNIT COST
#1 ESTIMATED QUANTITY PER DEPT/DIVISION	# 2 FOOTWEAR DESCRIPTION	#3 TWO YEAR UNIT COST PER ITEM	#4 BIDDER MUST MULTIPLY #1 x #3 TOTAL	#5 OPTION TO EXTEND ONE TWO YEAR UNIT COST PER ITEM	#6 BIDDER MUST MULTIPLY #1 x #5 TOTAL
400	WOLVERINE STEEL TOE WATERPROOF BOOT STYLE 6" STYLE #2350 IN BLACK	\$ 91.00	\$ 36,400.00	\$ 95.55	\$ 38,220.00
10	WOLVERINE STEEL TOE LOE STYLE #3106 IN BLACK +C81	\$ 108.00	\$ 1,080.00	\$ 113.40	\$ 1,134.00
10	WOLVERINE NON-STEEL TOE 6" STYLE #2352 IN BLACK	\$ 84.00	\$ 840.00	\$ 88.20	\$ 882.00
30	WOLVERINE NON-STEEL TOE LOW STYLE #3108 IN BLACK	\$ 92.00	\$ 2,760.00	\$ 96.60	\$ 2,898.00
200	ORTHOFOET HUNTER WATERPROOF MENS MODEL #488	\$ 138.00	\$ 27,600.00	\$ 144.90	\$ 28,980.00
500	CARHARTT RUGGED FLEX WATERPROOF COMPOSITE TOE WORK BOOT 83707 (WATER)	\$ 137.00	\$ 68,500.00	\$ 143.85	\$ 71,925.00
100	TIMBERLAND PRO HELIX WATERPROOF COMPOSITE TOE STYLE 61055 (WATER)	\$ 160.00	\$ 16,000.00	\$ 168.00	\$ 16,800.00
50	UA STELLAR TACTICAL SIDE ZIP BOOTS (MC)	\$ 80.00	\$ 4,000.00	\$ 84.00	\$ 4,200.00
20	NEW BALANCE FRESH FOAM X KAIHA ROAD WOMENS STYLE# 22156	\$ 99.00	\$ 1,980.00	\$ 103.95	\$ 2,079.00